L=5.2m
N=1
N=1




02







T-60 B5200-L1000-T250




3 2
A
b150*t23 4
( ) 10t
( ) 013
( )
200mm 400mm
3cm 58 m2
10mm 5 m2
03 m3
26 kg




3 A
5 m3
« )
5 m3
( ) 10 11t
5 m3
15cm
15cm m2
( ) 05 m3
10 11t
05 m3
25 m3
200mm 2 6 m2
)1 50mm
(13) 6 m2







m3

1875kg

1,875

kg




10t

SD345 D16 25

03




m3

m3




10

10

m3

(
0.8m3(

0.6)

)(




-5-21-1




-2- -1

) 200mm

400mm

()

Q)

2KVA
1
@ 38 40mm
)
)




) 200mm

400mm

()

Q)

1
[1] = 2

200mm

400mm




-2- -1

3cm m2
D) (D)
L 1
5m3/min
« )
« )
« D




-2- -1

3cm

m2

()

Q)

1
[J1] =1

3cm

[J2] = 1




3 2 -2-25-1
3
) m3
(%) €))
[
10t
« )
[ 1
[Ji] =2 [J2] = 1
[J31=1 DID DID [JE] = 4 8.0k
[J] =1




2 -3- -1
4
15cm
() €)

[ ]
20cm @ 56cm
(
(

22




-3- -1

15cm

()

Q)

[J1] =1

[J2] = 1

15cm

[35] = 1




-3- -1

15cm

m2

() €)
] 0.45m3( 0.35m3)
C )
]
[01] =1 [J21 = 1
[03] = 1 [J4] = 4 15cm
[J6] = 1 [071 = 1




3 2 -2-25-1
6
m3
() (%)
[ 1
2t
« )
[ 1
[J1] =3 [J2] = 4
[J31 =1 DID DID [c] =9 7.0km
[P =1




N —

m3

()

Q)

( )
0.28m3[  0.2m3]

:2

[J1] =1

[J2] = 5

[J5] = 1




3 2 -1- -1
8
( 200mm 2 m2
D) %)
[ 2
3.1m
[ 2
10t 2.1m
8 20t
C )
C )




3 2 -1- 41
8
200mm 2 m2
D) %)
RC-40
(
[ 1
[J1] = 12 [J4] = 200.000 mm

[J5] = 2

[71 = 1




N —

50mm

13)

m2

()

Q)

(

)L ]
0.5 0.6t

L 1
40 60kg

(

)

13)

PK-3




3 2 -1- -1
9
( )1 50mm 13) m2
() €)
« )

]
[J2] = 50.000 mm 1 [J11 =1 1.4m 50mm
[A1] = 32 13) [34] = 3 PK-3
[J6] =1 [yil =1

y2] =1




